	Games and Behavior - The Problems



 Ultimatum Game (Offerer) (#23) 




Top of Form

	 
	 
	 

	The Problem
	 
	 

	Imagine that you and a person you do not know are to share $100. You must make an offer as to how to split the $100 between the two of you and he must either accept or reject your offer. In the case he rejects the offer, neither of you will get anything. 

What is your offer? 

I offer the following amount to the other person (if he agrees I will get the rest): 
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Bottom of Form

	Statistics
	 
	 
	 
	All Courses
	 

	 
	# of answers: 
	 
	16
	9376
	 

	 
	Average: 
	 
	41.5
	42.94
	 

	 
	 
	 
	 
	 
	  
	


	Answer  
	%
	 
	all%
	

	0-1
	6%
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	12%
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	2-39
	25%
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	13%
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	40-49
	25%
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	8%
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	50
	38%
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	48%
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	51-60
	0%
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	10%
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	61-100
	6%
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	8%
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	Games and Behavior - The Problems


 Ultimatum Game (100$ Cutoff point) (#209) 




Top of Form

	 
	 
	 

	The Problem
	 
	 

	Imagine you are playing against a student in another university. A sum of $100 can be split between you. The other student will propose how to divide the $100. 

Simultaneously, you have to determine what is the minimal amount of money you will agree to accept. That is, if you write a number V in the box below and he has offered to allocate to you the number V or more, the $100 will be divided as he suggests. If V is higher than the one he allocated to you, you both get zero. 
Please fill in the minimal amount of money you would agree to accept: 
I accept any allocation of the $100 in which I get at least


Bottom of Form

	Statistics
	 
	 
	 
	All Courses
	 

	 
	# of answers: 
	 
	16
	465
	 

	 
	Average: 
	 
	29.75
	34.4
	 


	Answer  
	%
	 
	all%
	

	0-1
	6%
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	20%
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	2-10
	6%
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	7%
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	11-20
	25%
	[image: image21.png]



	6%
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	21-30
	12%
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	6%
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	31-40
	31%
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	11%
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	41-49
	0%
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	7%
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	50
	19%
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	34%
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	51-100
	0%
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	8%
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	Games and Behavior - The Problems


 One Shot Chain Store Game (verbal) (#28) 




Top of Form

	The Problem
	 
	 

	In your neighborhood there is one grocery store and one tailor. At the moment, the profits of the grocery store owner are around $10K per month while the tailor's profits are only $4K per month. 
The tailor asks your advice about his idea to change his shop into a grocery store. He figures that if the grocer does not respond aggressively to the new competition, each of them will earn about $6K per month. 
On the other hand, if the grocer does respond aggressively and starts a price war, then the earnings of each store will be reduced to about $2K per month. 

What is your advice to the tailor? 


Bottom of Form

	Statistics
	 
	 
	 
	 
	 

	# of answers: 
	 
	16
	All: 
	3792
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	[image: image36.wmf][2] Don't change the shop


	Answer  
	%
	 
	all%
	

	[1]
	25%
	[image: image37.png]



	51%
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	[2]
	75%
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	49%
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The situation, described verbally, similar to the one-shot chain store paradox game. In my experience about 55% of the students chose "enter" less than what found in Schotter, Weigelt and Wilson (1994) where the problem was presented as an extensive game.

             

	Games and Behavior - The Problems


 Knowledge Value (#29) 




Top of Form

	 
	 
	 

	The Problem
	 
	 

	You are player 1 in the following game ("Battle of the Sexes"): 

L
R
    T   
40, 10 
0 , 0
B 
0 , 0
10, 40
The payoffs are in dollars. Player 2 will submit his move via a computer. Someone offers you a service that will enable you to link up to your opponent's computer and know his move before you make your own. The fact you have purchased the service will become common knowledge between you and your opponent. If you are willing to purchase this service, please fill in the price you are willing to pay for it; if you are not willing to purchase this service, please fill in 0. 


	I will purchase the service and am ready to pay up to 
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Bottom of Form

	Statistics
	 
	 
	 
	All Courses
	 

	 
	# of answers: 
	 
	16
	2400
	 

	 
	Average: 
	 
	5.19
	7.38
	 

	 
	 
	 
	 
	 
	  
	


	Answer  
	%
	 
	all%
	

	0
	50%
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	42%
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	1-3
	0%
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	7%
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	4-15
	44%
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	41%
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	16-30
	6%
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	7%
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	40-1000
	0%
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	3%
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The problem is intended to demonstrate that in a game situation, more rather than less, information may be harmful. The three equilibria payoffs for the BoS version are 40, 10 (pure equilibria payoffs) and 8 (a mixed equilibrium payoff), which is also its maxmin value. The value of the only sub-game perfect equilibrium of the extensive game which fits the alternative game is 10. Thus, even under the most pessimistic view, a player should not value the offer at more than 2. However, in my experience, most students were ready to pay more than 2 for the service.

	Games and Behavior - The Problems


 Centipede (#33) 




Top of Form

	 
	 
	 

	The Problem
	 
	 

	You are playing the following "game" with an anonymous person. Each of the players has an "account" with an initial balance of $0. At each stage, one of the players (in alternating order - you start) has the right to stop the game. 

If it is your turn to stop the game and you choose not to your account is debited by $1 and your opponent's is credited by $3. 

Each time your opponent has the opportunity to stop the game and chooses not to, your account is credited by $3 and his is debited by $1. 

If both players choose not to stop the game for 100 turns, the game ends and each player receives the balance in his account (which is $200; check this in order to verify that you understand the game). 

At which turn (between 1 and 100) do you plan to stop the game? (If you plan not to stop the game at any point write 101). 
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Bottom of Form

	Statistics
	 
	 
	 
	All Courses
	 

	 
	# of answers: 
	 
	16
	3773
	 

	 
	Average: 
	 
	85.25
	84.56
	 

	 
	 
	 
	 
	 
	  
	


	Answer  
	%
	 
	all%
	

	1
	12%
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	10%
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	2-97
	6%
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	11%
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	98-100
	6%
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	20%
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	101
	75%
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	59%
	[image: image64.png]




	In my experience very few students chose to stop the game immediately, as Nash equilibrium would "predict"; 50% chose never to stop and almost 25% chose to stop the game at the last or penultimate opportunity. In comparison Nagel and Tang (1998), found (in a six-period centipede game) that almost no subjects followed Nash equilibrium strategies and that the vast majority of subjects stopped two or three periods before the end of the game.  (See also McKelvey and Palfrey (1992)).  
	 


	Games and Behavior - The Problems


 Finitely Repeated PD (#78) 




Top of Form

	The Problem
	 
	 

	You are playing five rounds of the following prisoner's dilemma. 

A
B
A
3,3

0,5

B
5,0

1,1

Imagine that your opponent is another student somewhere on the globe. 

Which of the following strategies do you select? (TFT=Tit for Tat) 


	 
	 
	 


Bottom of Form

	Statistics
	 
	 
	 
	 
	 

	# of answers: 
	 
	16
	All: 
	1996


	 
	

	
	

	
	
	[image: image67.wmf][1] I will play TFT in all rounds

	
	
	[image: image68.wmf][2] I will play TFT in round 1, then B

	
	
	[image: image69.wmf][3] I will play TFT in rounds 1 to 2, then B

	
	
	[image: image70.wmf][4] I will play TFT in round 1 to 3, then B

	
	
	[image: image71.wmf][5] I will play TFT in round 1 to 4, then B 
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	Answer  
	%
	 
	all%
	

	[1]
	19%
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	29%
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	[2]
	12%
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	6%
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	[3]
	12%
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	8%
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	[4]
	12%
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	9%
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	[5]
	6%
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	15%
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	[6]
	38%
	[image: image83.png]



	34%
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Tailor





Grocery             Tailor 


(Enter)		    (Don’t)





Grocery                 (4,10)     





(2,2)		    (6,6)





Aggressive    Not    
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